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1
measurement data .
cm (kg) (10%/L)
/ KPa
2
count data
A B AB O
3
ordina data
+  ++
4
population
sample
5
probability A
P A 0P A 1
n A m m/n
n frequency P A =mn
1
4



sampling error

1
A
B
C
D

D

[ ]

2

A
C
D
[ 1]






100

50 10

population

sample
random sampling
variation
(ordinal data)
(probability) A
P A A 0 P A 1
n A m m/n
(fregency) P A =m/n
random error
(systematic error)
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1.D

2.C

random variable

paramater
statistic
3.B 4.B 5.A

10

10°/L



20

frequency table

range

R=X

max

- X

min

810

L< x <U

2-1



arithmetic mean

X
1
g-aXx 2-2
n
2 X
g =8 X 2-3
af
2.
geometric mean
@
G = IK:::! Ig X 0 2-4
e N g
2
Gzlglaﬁflgxg 2-5
af g
3.
median
M = Xam+19 2-6
€20
lee o]
:_QX n n - 2—7
28 & G
2-1
1.
range
R: Xmax - Xmin 2-1
2.
1 percentile n



100, 25%

P2s

P =L, +i—x(n x%- & f,) )-8

inter-quartile range 3 Q3= Py 1

R=Q-Q 2-9)

g2 2 & (X-m)°® (2-10)

standard deviation

2
Q= P
3.
variance
4.
5.
1.
L 1
2
C.
D
[ 1
3.
A.
C.
C
L 1

2 -\ 2 2 5 X)?
& (x - X) \/a xz. (& )/4( @11
n-1

average

cV = % 100 % (2-12)
M QR
B.
D.
D



10

10.



A. B
D.
10.
A. B
D.
11. cv
A 1 B 1
1 1 D
12. 8§ -3 501 4 -1
A. 2 B. 0
C. 2.5 D. 0.5
13. ,
A. B
D.
14. ,
A. B.
D.
15. 5 <1:20 1:40 1:80 1:160 1:320
A B.
. D.
16. 0 48 49 50 52 100
50 B. 26.75
C. 28.90 D. 70.78
17.
A. n
B. n
C.
D.
18.
A. B
D.
19. 20% 3,60% 2,10% 1,10% O,
A 1.5 B. 1.9
C. 2.1 D. ,
20. 8 2 3 3 3 456 30
A. 7,
B
C. 4

11



D. 3.5 ,
21. 20 100 , 4.09cm, 4.10kg,
A.
B.
C.
D. ,
1. )
2. )
3. )
4. )
5. )
1.

mg/m’ 1 2 3 4 5
ug/m* 1000 2000 3000 4000 5000
2. 80 g 1
19.0 12.0 14.0 14.0 8.2 13.0 .5 12.0 15.0 17.2
12.0 12.7 25.0 8.5 20.0 17.0 4 .0 13.0 15.0
20.0 13.0 13.0 14.0 15.0 7.9 10.5 9.5 10.0 12.0
6.5 11.0 12.5 7.5 14.5 17.5 12.0 10.0 11.0 11.5
16.0 13.0 10.5 11.0 14.0 7.5 14.0 11.4 9.0 11.1
10.0 10.5 8.0 12.0 11.5 19.0 10.0 9.0 19.0 10.0
22.0 9.0 12.0 .0 14.0 10.0 11.5 11.0 15.0 16.0
8.0 15.0 9.9 8.5 12.5 9.6 18.5 11.0 12.0 12.0
3. 300
2-2 300 b g/l

0- 49 24- 16 48-

4- 27 28- 9 52-

8- 58 32- 9 56-

12- 50 36- 4 60-

16- 45 40- 5 64-

12



13

20- 22 44- - 68- 1
4. 5 7 9 10 14 15 X &(x-X)
5. 10
2-3 mg/ml
1 276 41 6 266 43
2 880 110 7 500 25
3 1600 280 8 1700 300
4 324 61 9 500 215
5 398 105 10 220 92
6. 42 7
10 20 40 80 160
5 12 13 7 5
1. frequency table
01 2 20
2. arithmetic mean
X
3. geometric mean
G
4. median n
5. range
6. percentile n



7. inter-quartile range 3 1

8. variance

9. standard deviation

10. coefficient of variation

cv

1 B 2.A 3.D 4.C 5.B 6.A 7.C 8.C 9.C 10.C 11.C

2.8 13.D 14.C 15.B 16.C 17.C 18.D 19.B 20.D 21.D

1.

2.

3.

4.

5.

1. 2.61 mg/m’ 0.27 mg/m’

2605.17 ug/m’ 0.27 ug/m’
2.
1
R= X, .~ X.,in=25.0-6.5=18.5
2.0 10
2-4 80 g
fX fx?
g X ) %

.00- 7.00 5 35.00 245.00 5 6.25
8.00- 9.00 14 126.00 1134.00 19 23.75
10.00- 11.00 19 209.00 2299.00 38 47.50
12.00- 13.00 17 221.00 2873.00 55 68.75
14.00- 15.00 12 180.00 2700.00 67 83.75
16.00- 17.00 5 85.00 1445.00 72 90.00
18.00- 19.00 4 76.00 1444 .00 76 95.00
20.00- 21.00 2 42.00 882.00 78 97.50
22.00- 23.00 1 23.00 529.00 79 98.75

14



24.00- 25.00 1 25.00 625.00 80 100.00

80 1022.00  14176.00 80 100.00

2

M=+ & a1 2120020 g0 s0-38 =12.249
fu €2 g 17
X = af =12.78
af
o 2 o 2 o 2
S=\/a(x- X) =Ja - (amyaty
n-1 af-1
3.
2-5 300 b g/L
M g/L X ) %
0.00- 2.00 49 49 16.33
4.00- 6.00 27 76 25.33
8.00- 10.00 58 134 44.67
12.00- 14.00 50 184 61.33
16.00- 18.00 45 229 76.33
20.00- 22.00 22 251 83.67
24.00- 26.00 16 267 89.00
28.00- 30.00 9 276 92.00
32.00- 34.00 9 285 95.00
36.00- 38.00 4 289 96.33
40.00- 42.00 5 294 98.00
44.00- 46.00 - 294 98.00
48.00- 50.00 3 297 99.00
52.00- 54.00 - 297 99.00
56.00- 58.00 2 299 99.67
60.00- 62.00 - 299 99.67
64.00- 66.00 - 299 99.67
68.00- 70.00 1 300 100.00
300 300 100.00

15



Qo

X

Qo

=15.08p g/L

i 8
+ fx ¢co-a fL9:13.28p g/L
v € @

X _7+9+10+14+15 ~11.00

=666.40mg/ml

(x- XJ _
—1-551.99mg/ml

;' 100%=82.83%

1’MﬂOl.Z? mg/ml
n-1

16



_ L eoemesn y oox <y 3-1)

5

X X N(ms ?) m s

Om X=m

@)s S

u N o 2

17



2 u=2-" X N(ms?) u
S
3.
-0 U F (U)
1
(X1, X,)
3-2
D= X2 1 -(X-m)Z/(ZSZ)dX =F(u,)- F(u) 3.2
Qs T
X, - m X, - m
u, = 13 u, = zs
2.
X 1 m+s 68.27%
m+1.64s 90..00% m+1.96s 95.00%
I +2.58s 99.00%
1
3-2 (X;,X,)
2.
1
2 3-1
3-1
%
N X+164S X-1.285 X+1.28S P~ P Po Py
B X+196S X-164S X +164S P~ P,s R Pos
9 X+258S X-233S X+233S Ps~ Pos P Poo
3. X +2S
X +£3S
4.

18



1. +¥ ( )
A 95% B 50% C 97.5% D
B
[ 1
m S 1 X=m
m 50%
2 X m s X 95 ( )
A - 164s B m+164s C m+196s D m+258s
B
[ 1
I +1.64s 90% m+1.64 10%
m+1.64 95% X 95
m+1.64s
3 X 300 99%
( ) Y=logX
A. X +258S B X+233S
C log (Y £258S,) D log™(Y +233S,)
D
[ 1
X X
Y Y  99%
X 99%
99% +2.33
4 ,95% 3.60 5.84(" 10%/L)
3.10( 102/L)
[ 1
5. ( 10%/L) 4.18 0.29
X
1 X 4.00 4.50
2 95%
[ 1
[€H) X X 4.00 4.50

19



4.00- 4.18 < X- m_ 4.50- 4.18

0.29 s 0.29
= P(-0.62 < u<1.10)
=1- F(-1.10)- F(-0.62)
=1- 0.1357- 0.2676

P(4.00 < X <4.50) = P( )

= 05967
X (4.00,4.50) 0.5967
@
X -1.965 =4.18- 1.96(0.29) = 3.61(" 102 /L)
X +1.96s = 4.18+1.96(0.29) = 4.75( 10 /L)
954 3.61~4.75( 102/L)
6. 1979 996

99%
10 11 12 13 14 15 16 17 18 19 20
7 44 153 244 269 191 61 16 8 1 2 996
% 0.7 5.1 20.5 45.0 72.0 91.2 97.3 98.9 99.7 99.8 100.0

[ 1

1 Po.s 0.5 0.5

af=0 L =10 f,=7 i.=1
P

0.

i =10+%(4.98- 0)=10.71

2 Psss 9%5.5 “ 18 "
[o] .
af=98 L, =18 f,=8 i,=1

Pacs :18%(991.02- 985) -18.25

99% 10.71~18.25
1 (
AO 1 B1 0 CO 0 D1 1
2 ms ( )
A B c's D S
3 ( )
A B c D

20



A 95% B 45% cC 9
5. 90%

A -1.64 +1.64 B -¥

C -¥ +1.28 D -1.28
1
2
3.
4.
1.
2.
3. “« X + 1.96S
1. 5
Q) 5

16.1 kg
22.9 kg
14.6 kg 23.9 kg
@) 5% 10% 2.5% 5
2. 200
95%

34444455555
6 6 6777777771
8 88888899 9 9
10 10 10 11 11 11 11 11 12 12 12
13 13 13 13 13 13 14 14 14 14 14

15 15 15 16 16 16 16 16 16 17 17
17 17 18 18 18 18 18 19 19 19 19
20 21 21 21 21 21 22 22 22 22 22
24 25 25 26 26 26 26 26 27 27 28
32 32 32 32 32 32 33 33 36 38 38

7.5% D 47.5%
u
+1.64

+1.28

95%

m=19.5 kg

mg /100g

~N o1

5 5
77
9 9

=~ o,
e )

6
8
1

= 0 o

6
8
1

[y

0 10 10 10 10 10

12 12 12 12 13 13 13 13 13

14 14 14 14 14 14 15 15 15
17 17 17 17 17 17 17 17 17
19 19 20 20 20 20 20 20 20
22 23 23 23 24 24 24 24 24
28 29 29 30 30 31 31 31 31
39 40 41 41 43 47 50 53 60

S=2.3 kg

3. 300 3-2
90% 95% 99%
3-2 300 (mg /1)
0 49 24 16 48 3
4 27 28 9 52 -
8 58 32 9 56
12 50 36 4 60 -
16 45 40 5 64 .
20 22 44 - 68 72 1
4 20 160 /

21



X =76.10 S$=9.32 95% 99%
5. 238 (rg/ Q) 14 95%

2.6 2.6 2.6 2.6 2.7 2.7 2.7 2.8 2.8 3.0 3.3 4.0 4.1 43
225 226 227 228 229 230 231 232 233 234 235 236 237 238

1.A 2.C 3.D 4. D 5. A
1 normal curve
1 2 /(56 2
f(X) =@ MYy X< 4¥
SRV

2 X
normal distribution N(ms ?) m s

3 : 0 1 standard normal
distribution N (0,12)

X-m
4 u= S X N(ms ?) u

standardized transformation

95%

N o oo 0w e

3. +1.96 95%

1. 1 X kg,

22



X-195 < 16.1- 195

23 23

P(X >229)=1- P(X £22.9) =1- P(X '2139'5 £ 22'92'319'5) =1- P(u£1.48) = F (- 1.48) = 0.0694

P(14.6£ X £ 23.9)= P(X£ 23.9F P(X£ 14.6)
_pX 195 ,239-195 | X-195 146-195

)- P( £ )
23 23 23 23

=P(u £191)- P(UE-2.13)

=1- F (- 1.91)- F(-2.13)

=0.9719- 0.0166=0.9553

P(X <16.1) = P(

) = P(u<-148) = F(- 1.48) =0.0694

2 5% 10% 2.5% X kg X, kg X kg
P(X > x,) =005 Pt '2139'5) =095
P(u £1.645) = 0.95 al '2139'5 =1.645 x =233 kg
P(X >x,) =010
X195 %-195 [ X-195_ %-195 o  %-195 . %-195
2.3 2.3 2.3 2.3 23 2.3
X, -19.5 _
- = =-1282 =224 k
2.3 % k
x,=24.0 kg
2.
955
3-3
3-3 200 mg /100g
0.45— 3— 1
0.55— 4— 5
0.65— 5— 10
0.75— 6— 20
0.85— 8— 11
0.95— 9— 21
1.05— 12— 29
1.15— 15— 25
1.25— 18— 30
1.35— 23— 20
1.45— 20— 16
1.55— 36— 8
1.65— 45— 3
1.75—1.85 57— 1
200
3-3 X n=200 g fx=230 g fx*=279.04
[*]
— fx .
X =a =279 04=1.15 mmol/L

n 200

23



=0.2703 mrmol/L

oo \/é - (@ 7°/n _ \/279.04- (230)% /200
n-1 200- 1

95% log"}(X +1.64S, ) = log }(1.15+1.64" 0.2703) =39 mmol/L
95% 39 mmol/L
32 300 X =15.08(ng/l) S=11.10(ng/l)
W X +1.285=15.08+1.28 11.10 =29.29(g /1)
95% X +1.64S=15.08+1.64 11.10 =33.28(ng/l)
99% X +2335=15.08+2.33 11.10 =40.94(ng/l)
4 ,
0% R, =28+(300° 90%- 267)=20.33(g /)
90% P, =36+%(300' 95%- 285) =36.00(mg /1)
4,
99% Py :52+§(300 99%- 297)=52.00(ng /1)
954 X +1965=76.10+1.96 9.32 =57.83 94.37
99% X +2.585=76.10+2.58 9.32 =52.05 100.37
(238+1) 0.95=227.05  95% 227 228

227 228 2.6 95 2.6(mg/Q)

24



A W N R

t
sampling error
gtandard error SE
S5 ¥ N
4-1
4-1
X
SY S; S
SY:S_ 2 X-m2
o s _jac-m
s..S n
X Jn o 2
X-X
. a ( )
n-1

25



1
confidence interval  Cl cl
c 1-a Cl
a la a =0.05 5%
95%Cl a =001 99% 99%CI

2 1-a
()t
t t

t ne ¥ t
()
. 42
4-2
X S
Y'ta/ZnSY X"'ta/ZmST(
X-Uy5Sy  X+Uy )5Sk
X
X1- Xy taonSsn,  X1- Xo+la2,Sx.,
()
1 t
H, m=m, H, mim,
(=X n=opog 41
Sg

2 t
H, m=0 H, m?0

L 4-2

S

3 t

26



43

s2 = (ny- )s?+(n, - )3

44
ng+n, -2
n>50 Sy

X -
u=2""0 45

SN

X-m
u= s 4-6

so/«/ﬁ °
5 u
u= Xl' X2 4-7

2 2

£+
6 squivalence test
)
1 p "
2

P
3 1 H, H, H,
1 type | error 1 a
1 H, H, H,
1 type Il error 11 b
4 1-b power of test a
1
A.
B.
C.
D
B
L]
Sz =S/ n St

27



A 9% B 99%
C 99% D 99%
D
[ 1
1-a a 1-a B D
A D
1 P=0.05 H, P>005 H,
[ 1 P=0.05 H, a
P>0.05
a H]_
2
]
3 I
[ 1
[
1
[ 1
a
P
2 4-3 328
4-3 328

s s
0 20 40 80 160 320 640 1280

211 27 19 24 25 19 3 0 76.1 111.7 6.17
2 16 57 76 75 54 25 23 411.9 470.5 25.90

t = 411.91-76.10 /42590°+6.172=12.6 n=14 t P<0.01

28



« g

t
t v =327
1 20
gL 4-4
4-4
gL
24 36 25 14 26 34 23 20 15 19
14 18 20 15 22 24 21 25 27 23
Hyim =m, Ho-m*tm, a =005
X, - X
t=—2—"2 n=n+n,-2
% - X,
2.7
t= =1019 n =18
2.6485
P>0.05
2 20 mm/h
4-5 1 2
4-5
1 2 3 4 5 6 7 8 9 10
30 33 26 31 30 27 28 28 25 29
26 29 23 30 30 24 22 25 23 23
11 12 13 14 15 16 17 18 19 20
29 30 29 33 28 26 30 31 30 30
26 23 25 23 23 25 28 22 27 24
1

t=d/ S; =3.2/0.611=5.237

t=d / S; =5.0/0.9428=5.303

v=9 P<0.001
2

a =0.05 Ho Hi

29



=979 _ 160 y=18 02P>01 @ =005
3-d,

3 90 10*/mm? 418
95%

2 95%

X +1.965-418+1.96" 29=474.84 10}/mm’
X -1.965=418-1.96" 29=361.16 10"/mm®
361.16 474.84 10%/mm®
2 n=90>50

X +1.96S5 =418+1.96" 29/+/90=423.99 10"/mnt
X -196S5 =418-1.96" 20//90=412.01 10"/mm?
41201 42399 10%mm’

6
A'S B £ C Sg D SD
7
A B
C D
8
A B
C t D
9
A
B
C
D
10
A
B t t
C P 0.05 Ho
D u
6.

A a=0.05 B a=001 C a=0.10 D a=0.20

Ho

29



A B “ ”
C A B D A B
8
At B t
C u D F
9 30
X, & X, §
A X=X, sf=s]
B t
C F
D 9%5%
10
A CV
B sy
C sg
D S
1
2
3 S %
4
5
6 P
7 1 I
8
9
1 P 0.01
2 99% 90%
3
1 P£0.05 Ho
2 a P
1 10 mmHg
4-6
4-6 10 mmHg
1 2 4 5 6 7 8 9 10

31



117 127 141 107 110 114 115 138 127 122
123 108 120 107 100 98 102 152 104 107

20 47
4-7 20
1 170 150
2 155 145
3 140 105
4 115 100
5 235 222
6 125 115
7 130 120
8 145 105
9 105 125
10 145 135
n 155 150
12 110 125
13 140 150
14 145 140
15 120 90
16 130 120
17 105 100
18 95 100
19 100 90
20 105 125
1 mg% 4-8
4-8 mg%

170 155 140 115 235 125 130 145 105 145
150 125 150 140 90 120 100 100 90 125

mg% 49

32



4-9 mg%
112 106.49 29.09
106 95.93 26.63
116 103.91 27.96
102 97.93 28.71
1.B 2.C 3.D 4.B 5.B 6.D 7.D 8.A 9.D 10.C
statistical inference
sampling error
Sx
standard error of mean SEM
confidence interval Cl
1-a l-a
P Ho
7 1 I type | error Ho
a Il type Il error
Ho “ " I b
1-b power of test
HO Hl “
level of atest a
P

x|



1 P Ho
P£0.05 Ho a
Ho p "
a
2 t a P t a
H
P Ho
1 t t=2.484 v=9 P<0.05
a =0.05 Ho
2 t t=2.157 v=19 P<0.05
a =0.05 Ho
3 t 1=2.539 v=22 P<0.05
a =0.05 Ho
4 9%5% 9%
95% 99% 3.10 18.02 0.73 20.39
0
95% 99% -1.60 13.56 -4.01 15.97
0



1
2
3 LSD-t Dunnett-t SNK-q
()
1
analysis of variance  ANOVA
sum of squares of deviations from mean SS
SS
F
2
1 variation among
groups
, MS MS =SS /n
k
s =an(X-%% n =kl k
i=1
2 (variation
within groups) (MS )
& ég _ LU
MS =SS /n S =aeaX-%)agn =N-KkK
i=1 Bj=1 a
3

(total variation)



MSs ) MS

k N
SS /n ss=aa - %%k noi n =N-1
i=1 j=1
N
2 (homoscedasticity)
1
1 (completely random design)
2 51 FiFa Hoeo m=m =L L =m
5-1
n
SS MS F
SS
ss n =k-1 NS = MS
n E=
MS
S
SS =8 SS N =n -n =n-k M =
(GD) n
S8 n=n 1
2
1 randomized block design
2 52 F 3Fa Hoe m=m=LL =m,
5-2
n F
SS MS
MS
n =k-1 NS = F =
ss n MS

36



MS

37

SS n = b-1
n MS
SS . SS -SS - SS n =n-n -n NS =
=N-k-n+1 n
ss n = nN-1
multiple comparison
1 LSD-t t k
t
t
f= X~ Xe S, =/MS (Z+% 5-1
EAB
2 Dunnett-t k-1
t Dunnet-t
X - 1 1
t:| i X0| Sg.gf MS (?+n—) 5-2
3 SNK-q Ho
q a a
(X, - %) _IMS L
q= Asd_ B S; = T(K+n—B (5-3)
4
15
5.
1
X (=IgX -9
X ¢=Ig(X +1)
2 Possion
X¢=~/X (5-5)
X¢=+/X +05
3



X=1/X

4
<30% >70%
X ¢=gnt/X
5
6
&l aly
A B
B AB
;
A
1
A SS <SS
C MS =MS +MS
D
[ ]
2 P<0.05
A B
D
B
[ 1
P<0.05 H,
3.
A
B

4
aghy ab,
22
2 3 4
A AB
B MS <MS

D SS =88 +S

SS =SS +SS

Ha

(5-6)

(6-7



A
1
D
A.
C.t
D
1
D
A.
B.
C.
D.
C
L 1
2
A
C
A N -n
cC n-n
J
A 1960

39
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A B C D
6
A
B
C
D
7
A
B
C
D
8
A
C
9
A 22 B23 C D 3 3
10 t
A B
C D AB
1t
2
3t P
53
)
53 mg/L
226 191 189 19.0
228 228 136 16.9
21.0 245  17.2 17.6
16.9 180 151 14.8
200 152 166 13.1
21.9 184 142 16.9
215 201 167 16.2
212 212 196 14.8
a 1679 1593 1319 129.3 588.40

ij




X 20.99 19.91 16.49 16.16 18.39

é_ X2ij 354851 3231.95 2206.27 211411 11100.84

s 3.53 8.56 451 3.47
2 54
5-4
5 6
7 6
8 7 10
9 8 10
9 8 10
10 9 11
10 9 12
un 10 12
1 10 14
12 11 16
o
a X 92 84 112 288
n, 10 10 10 30
X, 9.2 8.4 11.2 9.6
o] 2
a X5 836 732 1306 2924
s 4.4 2.93 5.73
3 A A A
5
A 15 11 13 12 14
A, 13 16 14 17 15
A 13 15 16 14 12
4 Dunnett-t

5-5 %

41



n 5; S
8 7886 0.43
0.5 5 7965 0.68
3 5  79.77 0.66
6 8 8094 0.75
9 7961 0.66
36 12 3
mg
SS =110
18 6
A B C 5-6
56 10%/mm®
A B C
1 3.8 6.3 8.0
2 4.6 6.3 11.9
3 7.6 10.2 14.1
4 8.6 9.2 14.7
5 6.4 8.1 13.0
6 6.2 6.9 13.4
0.3ml/kg 3
50%
57
3.80 3.88 1.85 1.94
3.90 3.84 2.01 2.25
4.06 3.96 2.10 2.03
3.85 3.92 1.92 2.10
3.84 3.80 2.04 2.08
MS

analysis of variance ANOVA

42

SS

45

=162



1.C 2D 3.B 4.B 5D 6.0 7.A 8.B 9.B

1 t
2
3 t a P t
Ho a
Hy”
H," P a
Hy * Hy”
1
Ho 4 M s=H 2=H U .
H 4
a =0.05

C=(a & X;)?/n=588.4"/32 =10819 .205
SS =g & X% - C=1110084- 10819205= 281.635
S =al@ x,)*/n]-C

= (167.9? +159.3 +131.9 +129.3?) /8- 10819.205

=141.170
S =S5 - =281.635- 141170 = 140.465

5-8

10.B

SS n MS




281.635 31 47.057 9.380
141.170 3 5.017
140.465 28
F |:0.053’28 =295 F Fo‘os,s‘zs P<0.05 a =0.05
H;
SNK-q
Ho M A=H B
Hi WAz UB
a =0.05
59
< 20.99 10. 91 16.49 16.16
i
1 2 3 4
510 q
q P
1,4 4. 83 4 6. 099 <0.01
1,3 4. 50 3 5. 682 <0.01
1,2 1. 08 2 1.364 >0.05
2,4 3. 30 3 4. 735 <0.01
2,3 3.42 2 4. 319 <0.01
3,4 0. 33 2 0. 417 >0.05
P>0.05 a =0.05 Hg
4 P<0.01 a =0.05
Ho H;
2
Ho
H;
a =0.05

C=(4 a X;)?/n=288%/30="2764.8

= &ol é X% - C=2924- 2764.8=159.2

SS
ss =al@x;»/nl-c

=(92° +84° +112)/10- 2764.8=41.6



SS =8 -SS =159.2-416=117.6

51
SS n MS F
159.2 29
41.6 2 20.80 4.77
117.6 27 4.36
F Fo.oazm =335 F I:0.05,2,27 P <0.05 a =005
Hi
Dunnet -t
Ho
H,
a =0.05
Dunnett-t
t = )?1 B Xo
JMS (U n,+1/n,)
=(9.2-11.2)/ J4.36(1/10 +1/10) =-2/0.93=-2.14
n =27 Dunnett-t P<0.05 a =0.05 Ho Hi
t =(84-112)/,/4.36(1/10+1/10) =-2.99
n =27 Dunnett-t P<0.05 a =0.05 Ho Hi
3
Ho
H
a =0.05
5-12
SS n MS F
40 14
10 2 5 2
30 12 25
F Foor, =388 P>0.05 «a =0.05 Ho

Ho



S = é- (ni - l)s|2
=(8-1) 043’ +(5-1) 068 +(5-1)" 066°+(8-1)" 0.75°+(9- 1)  0.66°

=12.3086
n =N-k=35-5=30

MS =S5 /n =12.3086/30=0.4103

1 0.5
Ho 0.5
Hi 0.5
a =0.05
{ = 79.65- 78.86
1/ 0.4103(1 + l)
8 5
=216
n =30 =4  Dunnett -t 2.25 =2.16<2.25, P 0.05
a =0.05 Ho 0.5
2 3
Ho 3
Hi 3
a =0.05
(= 79.77 - 718.85 =249
f 0.4103(=+2)
8 5
t>2.25 P<0.05 a =0.05 Ho 3
3 6
Ho 6
Hl 6
a =0.05
(= 80.94 - 718.8$ — 6.49
/0.4103(— +2)
8 8
t>2.25 P<0.05 a =0.05 Ho 6
4
Ho
H.
a =0.05
{= 79.61- 7886 _ 241
‘ /0.4103(l A
8 9
t>2.25 P<0.05 a =0.05 Ho

5 N=36 k=3 n=12

46



SS =SS -SS§ -SS =162-8-110=4
v =N-1=36-1=35
v =k-1=3-1=2
v =n-1=12-1=11
v =N-k-n+1=36-3-12+1=22
5-11
5-13
SS n MS F P
8 2 4 0.8 >0.05
44 1n 4 0.8 >0.05
110 22 5
162 35
Ho
Hi
a =0.05
Ho
H,
a =0.05
5-14
SS n MS F
187.265 17
129.003 2 64.502 79.338
50.132 5 10.026 12.333
8.13 10 0.813
F Foosz10 = 410, Fjg5410 = 348, P<0.05
Ho
A 2 , B 2" 2
5-15
5-15
SS n MS F

a7

a =0.05



17.339
0.009
17.168
0.014
0.148

19

=

16

0.009 1.000

17.168 1907.555
0.014 1.555
0.009

F

0.01,1,16

=8.68,

P<0.01 a =0.01



A W N R

()

= ~ 100%
rate %

%o

= " 100%

proportion

49



ratio B =106.04 100

=1.64

130.5%

1 standardization method

2 standardized rate adjusted rate

1 (dynamic series)



1 4%

A %% B 4%
C 4% D 4%
B
[ 1]
4 M
2
A
B
c
D
c
[ 1
B
D
c
[ 1
" 100%
1. 10 8 80% “
[ 1
10 8 80%  80%
2. 4 6.0% 9.7% 11.0% 15.4% 4

51



6.0+9.7+11.0+15.4 /4=10.53 %

[ 1
4 10.53%
11 120 114 6 95% 5%
A. B
C.
12
A.
B.
C.
D.
13
A.
B. X 2
C.
D.
14 40/10
45/10 38/10
A.
B.
C.
D.
15 <)) a @
+a +..+ P
A Gtat.tsy B ne a
1 &% & a,
a
e o 5 n/_n-l
3 &
16 21

52



D
17 & a &
A S tat..ta B n+: . “a
) & & a
C an D n i = 1
nj—- aO
3
18
A B
D

1 2. 4. 5.

6 7 8. 10.

1. 900 760 140

108 79 29
2.
6-2
% 1/10 %o

0~ 82920 4 2.90

20~ 63 19.05 25.73
40~ 28161 172 42

60 32
167090 715 90 12.59
3. 1971~1981
6-3 1971~1981 1/10



1971 1972 1973 1974 1975 1976 1977 1978 1979 1980 1981
2052 631 187 307 108 138 229 231 247 276 29%
4.
6-4 %
45 35 77.77 300 215 71.67
710 450 68.38 83 42 50.60
755 485 64.24 383 257 67.10
1.0 20D 3.D 4.B 5.0 6.D 7.C 8.D
1. relative number
2. rate
= " 100% % %o
3. proportion
= " 100%
4. ratio A B A B
= A
B
5. (standardization method)
6. (dynamic series)
7.



10.

50~60

50~60

= -1=4/a,/3,- 1
~ 100%
100%
" 100%
A
= 100%
52.24% 60~
50~60
60

108 900 x 100% 12%
79 760 x 100% 10.39%
29 140 x 100% 20.71%
79 108 x 100%
29 108 x 100%

6-5

1000%o

6.74%

73.15%

26.85%

%

/10

%0
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0~ 82920 138 4 2.90 4.82 1.66
20~ 46638 63 12 19.05 25.73 135
40~ 28161 172 42 24.42 149.14 6.11
60~ 9371 342 32 9.36 341.48 36.50

167090 715 90 12.59 53.86 4.28
40~ v4 20~
19.05% 60~ 9.36% 0O~
2.90%
60~
341.50/10
20 40 60
36.50%o
6-6
6-6 1971~1981
% %
10

1971 20.52 — — 100 100 — —
1972 6.31 -14.21 -14.21 30.75 30.75 -69.25 -69.25
1973 1.87 -18.56 -4.44 911 29.64 -90.89 -70.36
1974 3.07 -17.45 1.20 14.96 164.17 -85.04 64.17
1975 1.08 -19.44 -1.99 5.26 35.18 -94.74 -64.82
1976 1.38 -19.14 0.30 6.73 127.78 -93.27 27.78
1977 2.29 -18.23 0.91 1116 165.94 -88.84 65.94
1978 231 -18.21 0.02 11.26 100.87 -88.74 0.87
1979 2.47 -18.05 0.16 12.04 106.93 -87.96 6.93
1980 2.76 -17.76 0.29 13.45 111.74 -86.55 11.74
1981 2.94 -17.58 0.18 14.33 106.52 -85.67 6.52

6-7

6-7
N P NP P NP
345 77.77 268 71.67 247
793 68.38 503 50.60 401




1138 3 64.24 771 > NP
N;

67.10

648 Y NP

o
_ N. P 71
p = a NiF 100%:_1’ 100% = 67.75%
N 1138

_aNP
p = a ’ 100%:£' 100% =56.94%
N 1138
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Poisson

1
1
2 Poisson
1
2
3 Poisson
1
1
2
3
4
2 Poisson
1
2
3
Poisson
1
binomial distribution Poisson
X 01,...,n
P(X=k)=(pp“@A-p)™* (7-1)
X n 1 X B n,m
Poisson X 01,...,n
m
P(X :k) :We IJ >0 (7'2)
X 1] Poisson Poisson Distribution X Py
2



2 Poisson X
X
X 1
1 X B n,m
X M x= Nnm
X sZ=nm(@-m)
X Sy = Jnp(L- p)
2 Poisson X P y
X M x=HM
X Sf:u
X O x= .\/r—n
1
Poisson
Xl XZ Xk ni p i=l,2,
X=X X X n p n=m+np+  +ng
Xe Mioi=L2, Lk Poisson
X« M M =Moot ot HH Poisson
2
Poisson
n T 0 1
N nmt, Jnp-p)
Poisson n 1 np =I
Poisson
Poisson Poisson P p V]
1
1
n< 50 95 99
n p
1-a
P-Uq SD’ p+uusﬂ
1-
- [P0 D)
n
2

59

7-3)
7-4)

-5

(7-6)
-
(7-8)

X1
X= Xl

X
X2

> 20

7-9)

(7-10)



a
3
n n P: 1-pp P 1-p.
_P-P
u _—S (7-11)
Pi- P2
X+ X, X, +X,.,1 1
br- b —\/ - —3)=+) (7-12)
nl + I’]2 nl + n2 nl n2
2 Poisson
1
X< 50 95 99
X>50 Poisson 1-a
X- ua\/Y X+uaﬁ (7-13)
2
3]
Mo
X Poisson
mk
P(X = k) = Fe-m k=0,1,2,...
X
a
X
Poisson
u
u=2t (7-14)
N
u
3 Poisson
u



u=———22 (7-15)

(7-16)
XX
neoon
()
1 ) n
A p=X/n B n 1
B n X B n 1
C B n m
D B n 1
B
[ ]
X n
n B
2
A n B n T
Cn T 1 D n T 0.5
D
[ 1
n I 0 1 B n,
T N nm, «/np(l-p) T 0 1 T 0.5
D
3.
A B
C Poisson D.
C
[ 1 Poisson
Poisson P u V] V]
4. 10000 L,

95%

61



A 10000 +1.96+/10000 B. 10+1.964/10

¢ 10410631000 D. 10+1.96,/10000
1000
C
L ] Poisson
X 50 Poisson
95% 1000
_ - Sy - /10000
Y = X400 Sy = 400 = 400
500 300 200 10
X X B 10 0.5
[ 1
X B 10 0.5
0.2 14
0.802
L 1
1

P., =1- P, =1- |(L- 0.2)* + ()" 0.2 (1- 0.2)|=1- [0.044 +0.154] = 0.802

1 2. Poisson
3. Bernoulli
ILX X B nmpp B m p X1 X X=X
Xo
A X=X B. m=n;
C p=p, D. nip=n;p,

62



A n=50 B. p=0.5

C np=1 D. p=1
3. Poisson p m N T Jm

A B M=1

c M=o D. M=05
4, 50% 3

A 0125 B. 0.375

C 025 D. 05
5. 100

100 95
A 5 195 B 804 1196
C 95 105 D 742 1258
Poisson
Poisson
S
1. 10% 10
3
2.
100 80 50
100
1000
4, 10000 10 100
1. X 01,...,n
P(X =Kk)=()p“@-p)™"
X n 1 Binomial Distribution
X B n,m



P1-

X, +X,, 1
Sprpz :\/ - 2(
n,+n,

P2

+i)

n,. n;

\/ 80+50 1 ,
100+100 100

L) =-01005
100

2. Poisson X 0,1,...,n
P(X =Kk) :ﬂke'm u >0
ki
X V] Poisson Poisson Distribution X Py
3. Bernoulli A A
“ " Bernoulli Bernoulli Test
1.C 2B 3.A 4.B 5.B
1
Poisson X
X
X 1
2. n T 0 1 n,m
N nm, an(l— p)
Poisson Poisson P u V] > 20
3 P n P 0 1
S
1
Ho 10%
Hi 10%
a =0.05
10% 10 3 3
P(X> 3)=1-[P(X=0)+P(X=1)+P(X=2)]=1-[0.9°+10* 0.1 0.9°+45* 0.1*0.9"]=0.0702
P(X> 3) 005 «a =0.05 Ho
2.
Ho
Hi
a =0.05



SPl' P2
u=28-05_56312 25 P 001
0.114
a =0.05 Ho Hl
3. 4 m =100*4=400
m Poisson
Ho
400 H,
400 a =0.05
U= X - U
e
1000- 400
u=———=30 258 P 0.01
/400
a =0.05 Ho Hl
4, 100 P(X=0) P(X=)
P(X = 2) 100 =100 9 =01
10000
Poisson
2
P(X £2) = %e‘ L +m7e‘ ™ = 0.90484+ 0.09048+ 0.00452 = 0.99984

1
100 0.99984
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2 c?
1 c?
2
3 c?
3 c?
C2
1 c?
()c?
c? Chi-square test
1
2
3
()c?
1 c? c?
Ho Ho P1=p:
C2
Ho H Hi pitp,
_ 2
2 2=y AT,
T
Theoretical Frequency c?
CZ
()
1
_ [pPE-p)
S, = p
n
_ |pQ-p)
s = P& P
P n
2
n p 1p p

Actua Frequency T

(&1)

(82



p- ua/2’Sp*r‘H"Jz:1/2,Sp (8'3)
)c?
8-1
HO Hl
Ho H, 1
c2 = (ad- bc)®n
(a+b)(c+d)(a+c)(b+d)
n340 1£T<5
o2 = (jad - bg- n/2)°n
(atb)(c+d)(a+c)(b+d)
c?= (Ib' CI 1)2
b+c
R™C Ho (R)(C-D)
(Hg )
Hl
(Hy )
2 o A?
¢ =n@a NrNc Y
HO
Hl
g (A-T)*
T
n<40
2
1 1<T<5 n>40 ¢
TEL
2
1 <5 U5
2 R C
R C
Kappa
1
A
B
C
D
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[ ] CZ C2
2 Fisher
A 1<T<5,n>40 B T<5 C TE1 n£40 D TE1 n£100
C
[ 1 TE1 n£40 c? Fisher
3 c?
A -¥<c?<+¥ B OE£C?E+¥ C c2f1 D -¥£cC2?£0
B
[ ] C2 C2 C2
B
c? u
[ 1 u c?
1 c? u
u c?
u?=c? 1 u 2 u
3 c? 2
2 RC ¢c?
RcC c?
1 122
8-2
8-2 122
19 5 24
12 86 98
31 91 122
[ 1 c?
Ho
H;
a =0.05
-d-n? (5-19-1f
ng(]b qd-9 :(I 2 ) =212 n=1
b+c 5+12

C?=211<c{ys; P>0.05,



8-3
%
51 84 135 37.78
6 26 32 18.75
5 13 18 27.78
62 123 185 33.51
[ 1
HO
Hl
a =005
A2 2 2 2 2 2 2 .
e 0
2=n(@ —- D18y sS04 0, 20, 5 _, 182,
nn €62° 135 123135 6232 123 32 62°18 123 18 4
498 n= 21 3-1 =2
0.255P>0.10 a = 0.05 H,
3. 400 4 100
8-4 4
8-4 4
%
100 41
100 94
100 89
100 27
[ 1 c? 8-5
8-5 4
41 59 100
94 6 100
89 1 100
27 73 100
251 149 400
H, 4
H, 4
a =0.05
2 2 2 2
c? =n(§ 2—- 1)=400 &4 59 8 1% 146175

€257 100 149 100~ 149’ 100 p

r'’c
n= 41 21 =3
P<0.05 a=0.05 H

0
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o0 w > >

o >

o0 w >

p
c2
n p 1p p
t
u
t
u=c?
tZ - 2
1_
[p@- p) g Pd-p p

n n-1

CZ

n=n-2 n
34 n=11
n=4
C§.05,n >C§.05,h n >h
120 60%
35%
B C
B c?
u c?
u c?
u c?
c? u
C2
Fisher

70

p(L- p)
n

50%



9 McNemar

10 Yaes
c?> Cg.os(a)
1 121 82 1 39
1
2 8-6
8-6
0 340 11 6 357
| 73 13 6 92
1] 97 18 18 133
111 3 2 1 6
513 44 31 588
3 8-7 120
8-7
+ -
42 18 60
30 30 60
72 48 120
4 8-8
8-8
%
29 25 86.2
28 17 60.7
57 42 73.7
5 8-9
8-9
%
110 82 745
150 130 86.7
63 56 88.9
323 268 83.0
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810

8-10

12 43 232 287

277 39 n 327

289 82 243 614

8-11
8-11 2
34 62 28 124
27 28 20 75
57 105 52 214
118 195 100 413
8-12
8-12
A B O AB
Eskdale 33 6 56 5 100
Annandale 54 14 52 5 125
87 20 108 10 225
2.A 3.D 4.D 5.A 6.D 7.A
actual frequency theoretical frequency
c? a c? c?
a c?
goodness of fit
A B

n 8-12
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8-12

A B
+ -
+ a b
- C d
5. R C
6.
1-
S, S 0 PQ-p) 0] n 6] P
n
S, = [p@- )
n
7.
8. Fisher 1 n<40 R.A.Fisher 1934
Ho
9. McNemar McNemar’stest for correlated proportions
2
otbed
b+c
10 Yates YaesF c?
c? 1 P
c? correction of continuity Y ates

Yates correction

Ho:
H;:
a =0.05

¢ 2=61.59

H H,
+ -
1n 71 82
1 38 39
12 109 121

c?2=237 P>005,

, ¢?

c?<clye P<0.05
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a =0.05 Ho Hy,

3 c?
Ho:
Hi: a =0.05
c?=3.00 a=005 Ho
4 u c? c?
c?=4774  a =005 Ho Hy,
5 R C c? c?=8539 v=2 P<0.05 a =005 Ho
H,
6 R C c? c2=443.456 v=2 P<0.05 a =005 Ho
Hi
7 c¢c? c?=4.020 v=4 P>0.05 a =0.05 Ho
8 5 c? ¢?=5.710 v=3 P>005
a =0.05 Ho
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non-parametric
statistics distribution-freestetistics
assumption free statistics

( )

A W DN R
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o 0~ W

( )
7
(Wilcoxon )
1.
() Ho M0
H, Mg 0
a =0.05
@)
® 0
1
@4 T,
T- T. T n(n+1)/2 T.( T T
©) P n< 50 T P T
P T
2.
n>50 u u
u:|T—n(n+1)/4|—0.5 -1
Jn(n+1)(2n+1)/24
U= |T- n(n+1)/4]-05 ©-2)
\/n(n+1)(2n+1) ae-t)
24 T 48
(Wilcoxon )
1.
(€N Ho
H,
a =005
(2
(3 M T

4 P T P T
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Ny Np-Ny u u
_IT-n(N+2)/2|-05 ©3)
Jnin, (N +1)/12
=u -
Ue /1/6 ©-9
C=1-4(-t)/(N*-N) t j
(Kruskal -Wallis )
Ho
Hi
a =0.05
H
AN N +1 9-5
N(N+1)(a ) s+ ©5)
Hec
H =H/C (9-6)
C=1-a-t)/(N°-N) & j
P H P T
P T P
(Nemenyi )
Ho
Hi
a =0.05
D=Ry-Rl
P 1 D

7



Cz_ |§A-§B|

= ©-7)
CIN(N +1)/12][Y/n, +1/ng]
c=1- é.(tja'tj)/(N3' N) ] Ci,(k-l)
N
1.
(1)
(2 R
3 ‘R=bk+1)/2 b k
4 (R-R);
(5) M=3(R-R?
(6) M M
2. Friedman
(1)
2 R
, 12 &
= RS - 3b(k 9-8
¢ bk(k +1) ‘?}1 . (k+3 -8
©)] C;,(k—l) P
(1) R
2 R,- R,
_ IR, - Ry (9-9)
\/bk(k +1)/6
u P c al/c
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< b J o

t

Ho
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L]

C

OO0 W >

O >

Kruskal-wallis

t
Kruskal-Wallis

C1

Hc H,=H/C

HcH

B
D

Wilcoxon

C=1- 4 (- {)/(N*-N)

P



10.

11.

12.

13.

14.

@]

o 0O W > (@] > o0 o > O 0O W > O > O 0O w >

o0 W >

i+1

Ho
Ho
Wilcoxon

Ho

Ho

Ho

t
0.5
3
i+0.5

t >u >

t > >u

B
0
-0.5 -1
-2
-3
n 1 2
B
B u > >t
D t u >
P

81



15.

16.

17.

18.

19.

20.

21.

22.

23.

24.

>

o >

> O 0w > o > O 0w >

O >

o0 W >

W >

<3, <5 B <3, <5

< 3, <5 D < 3, <5
P
50= r= 5 B 30=n=5
30= n= 3 D 50=n=3
n ny,
m=4 , n=4 B m=2 , n=4
n=9 , n,=20 D ni=11, n,=11
B
X X
XX
X %
XX
XX
t
B
B
D
Ho
0 B
a?0 D My?0
ny Ny n>n
n 1 2 n
n, 1 2 n,
n+nz 1 2 Mm+nz
M- 12 n;-rp
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25.
At
B
C t
D t
26. n n; 30
At B u
C D F
27. U
A U P B u P
u P u P
28. Wilcoxon T P
AT P
B T P
CT P
DT P
29. Uc u
Ho
A B
C D
1.
2.
3. ?
4.
1 8
3
9-1 ¢ /mD
1 2 3 4 5 6 7 8
6000 22000 5900 4400 6000 6500 26000 5800
660 5600 3700 5000 6300 1200 1800 2200
2 24



9-2

34.3 <10
38.1 15.8
42.8 18.2
45.9 21.9
48.2 23.4
51.7 24.6
52.4 26.1
52.8 27.2
54.5 29.3
54.8 30.7
55.3 34.4
65.4 34.7
T,= T=
A 1U/g
9-3 A
A
E d
1 3550 2450 1100
2 2000 2400 -400
3 3000 1800 1200
4 3950 3200 750
5 3800 3950 -150
6 3750 2700 1050
7 3450 2500 950
8 3050 1750 1300
9 2500 2550 -50
10 3650 3750 -100

(p moal/L)



9-4

(4 mal/L)

0.82 0.87 0.97 1.21 1.64 2.08 2.13
0.24 0.24 0.29 0.33 0.44 0.58 0.63 0.72 0.87 1.01

5. 5% 20
12
9-5
- 4 11
t 1
+ 2 1
++ 1
+++ 12
()
1.
non-parametric statistics distribution-free statistics
assumption free statistics
2.
(parametric statistics)
rank
4. rank sum
1.A 2.D 3.B 4.B 5.C 6.D 7.D 8.C 9.D 10.D
11.0 12.C 13.C 14D 15.A 16.A 17.C 18.D 19.A 20.A
21.B 22.B 23.C 24.Cc 25.0 26.C 27.A 28.A 29.C
()
1
2
3



4
1
Wilcoxon T=4.5 T,=61.5 P<0.05
2.
Wilcoxon ni=12, T.1=220, n=12,
3. Wilcoxon
T,=45 P>0.05 t t=2.711, P<0.05
0.05
t
A
4.
Wilcoxon m=7, T,=93.5,
0.01<P<0.05
5. Wilcoxon
n,;=20, T,=422, n,=12, T,=106, u.=3.76
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T,=80,P<0.01
T.=10
n=10, T,=59.5,
P<0.01



(linear regression)

simple regression

Y=a+bX a b 10-1
10-1 ab
a b
Y intercept regression coefficient
X Y X
a>0 b>0
X
a<0 b<0
X
a=0 b=0 X

o AOCXN-Y) 1y

a=Y - bX a (X- Xy o
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A W N -

I

)

linear correlation simple correlation

coefficient of product -moment correlation

& (X-X)(Y-Y) »

r: = Y
Bocodw Tl

Isrs 1 1

b= L/ b 1= byl I

—o b +w I<r< 1
b r



2 r b t t=t,
|2
3 r2=I xly =SS /SS
XYy
r? 1

rank correlation

1
A r B t
C F
D
[ ]
t r
r b t to=t;
2 r=r,
A b=h, B ty=tp
C tr=t2 D
D
[ 1
r b bh=b, r b
ti=b1 tte tu=te t1=to re r=r,
ri=r.’
3 IrProos(na X Y
A B.
C D.
D
[ 1
r p
r
[FPPro.0s( n2 P<0.05 Ho H, pz0
Y
4 Ho
A p=0 B. pz0
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20

A
1
' P
r p 0 =0
r
A >0 b<0 B.r>0 b>0
C r<0 b>0 D.r b
B
1
b r
r>0 b>0
( )
A2 X—X 2 B ZYZ_ s Y 2
C z0=Y)* D5 XX Y-Y
Y=14+4X  1~7
kg ( )
A B
C
r=1 ()
A b=1 B al
C Six0 D Sx=S
( )
A
B
C
D
X Y ()
A S, =yax- 1/(n-2) B S =a(-¥/(n-1
C

s = Fd oos=s (W
)

(
A n B n 1
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C n 2 D 2n 1
25 Y ()
A S5 =SS B SS =SS
C S =SS D
26 ss ()
A L, -1,b B I, -bly
2 2
C. Iy - I/l D (1- r3)l,
27 ()
A va/\/lxxlw B b(x\llxx/lw
c Job,b, D
28 r=0 Y =a+bX ( )
A B.a X
c D. a Y
1. 2. 3. 4. 5
6. 7. 10.
SS 1=$ 2 ry r
3 r
1
2
3 n=100 X Y r=0.1 X Y
4 r rs
5
6
7
1 10 20 10-2
p=0
p 9%
102 10 20
170 173 160 155 173 188 178 183 180 165
cm
45 42 44 41 47 50 47 46 49 43
cm
2

10-3
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900g 95%

900g \'% 95%
10-3
1 2 3 4 5 6 7 8
g 800 780 720 867 690 787 934 750
g 185 158 130 180 134 167 186 133
3 a
10-4 a
1 2 3 4 5 6 7 8
110 560 1850 1623 1140 13.80 813 18.00 12.10
a g g100m® 005 117 105 010 075 050 065 120
4
105 12
1 2 3 4 5 6 7 8 9 0 11 12
120 130 160 310 420 540 740 1060 1260 1230 1440 2000
10%L

++ o+t

I+
+
+

++

1.D 2.C 3.C 4.B 5.C 6.C 7.D 8.B 9.D 10.D
1 linear regression

simple regression
2 regression coefficient (dlope) b
X Y b
. o ~\2
3 residual sum of squares SS  Q (Y - Y) X Y
Y X
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alv-vf

4 regression sum of squares  SS
Y
5 linear correlation

93

simple correlation

6 zerro correlation
29 coefficient of product -moment correlation
P
30 coefficient of determination r
r.2: IiY :IiY/IXX :SS s r
lyox vy I SS
r 1
31 rectification
14. rank correlation
1 SS 1=SS » s SS
rL Iz
2
3 r 1<r< 1
r 1 0
1
XY
a
X
~\2
2 Svx Syx =+/SS /(n Zj:\/é_ (Y—Y) /(n—2)
X Y Y 1 X
Sy x Y X Y
b S, =S x/\Ixx
X Y S :SY_X\]J/n+(x- X)?[& (X- X)?
YA Sy.x
X Y

b=0

y




s; =SexYn+(X- X)°/4 (X- X)? Y

3 n=100 r=0.1 t o =0.05 Ho(p =0
Hyp # 0) r?=0.1°=0.01
1%
4 r re
5
t
X Y X Y
Y = a+bX P
X Y X Y
1~7 X Y
Y
X
Y X X
7 X Y X
X Y
Y
1 101



H;

190

°
49 o
47 |+ ° o
—~ °
= 45 | [ )
° °
43 o
°
41 r °
39
37 1
35 1 1 1 1
150 160 170 180
(cm
10-1 10 20

1
A X =175 § X?2=2085%5 X=172.5
AY=443Y2=2060 Y=4548 XY=78541

ho =& X2- (& XJ /n=298525 - 17252 /10 =962.5

ly =& Y- (A Y /n=208 - 4542/10 =78.4

Lo =8 XY- (8 X)@ Y)/n=78541 - 1725~ 454/10= 226
o by 26

= = =0.8227
Jhly  +/962.5 78.4

p =0
Ho p =0
Hi p#0
r-o r 0.8227" \[10- 2
t= = = =4.09
s, JJl-r?)(n-2)  V1-0.82272
a =0.05
n=n-2=10- 2=8 t 0.002<P<0.005 a =0.05
20
p 95%
r V4
=1 @rro. 1), @8+08279_ o5
2 gl-rg 2 ¢gl- 08274
z=tanh0.8227=1.1651
z 95%

95

Ho



(Z' uoos/m z+ uo.os/m)
= (11651 1.96//10- 3 1.1651+1.96/:/10- 3)
= (0.4243 1.9059)

r=tanhz =z 20 9%
0.4005 0.9567

2 10-2

Y X=6328 ¥ X?=5048814 X =791

Y Y=1273 ¥ ¥’=206619 Y =159.125 T XY=1018263

e =8 X2- (@ X)?/n =5048814- 63282/8 = 43366

v =8 Y?- (Y)?/n=206619 - 1273’ /8= 4052.875

a XY- (& X)(4 Y)/n=1018263- 6328" 1273/8=11320

lXY

b= o 11320 0.261
l, 43366
a=Y - bX =159.125- 0.261" 791= - 47.326

Y= 172.94+0.42X
Y= 47.33+0.26X

Y=78.29+0.10X

~ 160 |
140 +
120
100 1 1 1 1
600 700 800 900 1000
)
10-2
1
Ho B O
Hi B#0
a 0.05

SS =l,, =4052.875

SS =12, /I, =11320%/43366 = 2954.905

SS =SS - SS =4052.875- 2954.905 =1097 .97
10-6
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=
@
(o2}

SS v MS
4052.875 7
2954.905 1 2954.905 16.147
1097.970 6 182.995
F=16.147 F P<0.01 a 0.05 Ho H,
t
Hi B#0
a 005
SS =l,, =4052.875
SS =12, /I« =11320°%/43366 = 2954.905
SS =SS - SS =4052.875- 2954.905 =1097 .97
S x =4/SS / n- 2 =,/1097 .97/ 8- 2 =13.5276
b- 0 b 0.261
t= = = =4.018
S Sox/l  13.5276/+/43366
v =6 t 0.01>P>0.05 a 005 Ho Hi
JF =4/16.147 = 4.018 =t
Y =a+bX =- 47.326+0.261X
Y Y 10-7
10-7
X Y Y Y Y
1 800 185 161.474 23526
2 780 158 156.254 1.746
3 720 130 140.594 10.594
4 867 180 178.961 1.039
5 690 134 132.764 1.236
6 787 167 158.081 8.919
7 934 186 196.448 10.448
8 750 133 148.424 15.424

X=800 Y=185
95%
95%
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B 95%

b toosn 2S5 b toosn S
0.261 2.447x 135107 /43366 0.261 2.447x 135107 /43366
0.1022 0.4198

X,=690 Y= 47326+0261X  Yi=13276 X=934 Y;=19645
690 132.76 934 196.45
10-2
95% a=Y-bX  a=78285 a,=
172.937 95% 10-2

Y =78.285+0.1022X Y = 172.937+0.4198X
900g 95%

S =8, YN+ (X - XY (X~ X)?

=135276,/1/8+ (900- 791) /43366 =8.5446
X=900 rTL 95%

~

Y toose Sy Y toose Sy
= 187.574 2.447x 85446 187574 2.447x 85446 = 166.67 208.48

900g 187.574g 95%
166.67~208.48g
900g
187.574g 100 100
95
9009 Y  95%

s, =sY‘X«/1+]/n+(X - )T)Z/«[(X - X)?

=13.5276./1+1/8+(900 - 791)?/43366 = 16.0002

X=900 Y = 47.326+0.261%=187.574 Y 95%

Y lboeS Y looseSr
= 187574 2.447x 16.0002 187.574 2.447x 16.0002 = 148.42 226.73

900g 95% 148.42~226.73g
3 10-8
10-8 a
1/10 a
X Y d o?
1 5.60 1 0.05 1 0 0
2 18.50 8 1.17 7 1 1
3 16.23 6 1.05 6 0 0
4 11.40 3 0.10 2 1 1
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99

5 13.80 5 0.75 5 0
6 8.13 2 0.50 3 1
7 18.00 7 0.65 4 9
8 12.10 4 1.20 8 16
s d°=28
Ho ps O a
Hi ps#0 a
a 005
rel 6y d® [n(n® 1)]=1 6x 28 [8x (8 1)]=0.6667
Is 0.10>P>0.05 a 005 Ho
a
4 109
10-9
x 10°L
X \% d o
1 120 1 ++ 105 95 90.25
2 130 2 +H+ 125 10.0 100.00
3 160 3 + 7.0 40 16.00
4 310 4 35 05 0.25
5 420 5 + 8.5 35 12.25
6 540 6 + 8.5 25 6.25
7 740 7 35 35 12.25
8 1060 8 35 45 20.25
9 1260 10 35 6.5 42.25
10 1230 9 35 55 30.25
11 1440 ++ 105 05 0.25
12 2000 12 35 85 72.25
s d’=4025
Ho ps O
Hi p&£0
a 005
Y rs rg
Tx=0
T=y £t 1256 6+2° 2+(2 2)] 12=185



oo - el (7, +T,)- & d?
¥ G R (e e
022 - 12)/6]- (0+185)- 4025

") oflz 22 5s

=-0.5095

rs 0.10>P>0.05 a 0.05 Ho
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logistic

1
2
3 P
4 logistic
5 logistic
6 logistic
SPSS SAS
()
Y X
multiple linear regression multiple
regression
Y =hy +b X, +b,X, 0 b X,
Y X, X, . X, K
bo b1 bz e bk
partial regression coefficient bj X, X,
Y
)
Y X, X, o X, Y
bl b2 T q
~ A2
Y Y 3e2=3(Y-Y) b b,
b, b, b, .. 0B

normal equation
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},b1|11+b2|12+|- +b, 1y, :|ly
}'b1|21+b2|22+L +0 15 :IZy
!

{b1|k1+b2|k2 +L +bly =Iky

L=l =& (X - X)(X,- X) =8 XX, -

1) N

ly =& (X - X)(Y-¥)=3 XY~

n
bO
bo:Y' blxl' bzxz' L - qu
1 x2 Xk Y
b,=b,=b,=L =b, =0 H, bj
F
= MS _ I /k
MS I /(n— k-1)
n Kk
I =bl,, +bl, +L +bl
I =l -1
T \2
| =& (v-Y)=1,
( )logistic
Xl!XZIL !Xk Y Y
Y =0 P Q
P+Q=1
Logistic
eb0+blxl+b2X2+L +b, Xy
= 1+ eb0+blxl+b2X2+L +b, Xy
B 1
- 1+ eb0+b1X1+b2X2+L +by Xy
b, bj(j:12L k) X,
P bx bx (-¥ ¥)
01
n I Xil’XiZ’L ’Xik

102
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I 1 F>| Ql
P+Q=1 B Q
eb0+blxil+b2xi2+|— +by Xix
F'. = 1+ eb0+b.l.xi1+b2x et b Xk
1
Qi = +by X4 H +L + ;
1+ ebo Iy X +Hop Xp+L +by Xi
i odds P/Q |
P/Q OR odds ratio

&P /Q 0
InG———==b,(X;; - X;;)+b,(X;, - X,) +L +b, (X, - X,
"Ria s )bl : ( :

(Xij' X,j)(j=12L k)

Xi
XIJ X“. bj XJ.
XJ. g
logistic
logistic maximum likelihood estimate
bj bj(j=12L k)
Y X11X25L 1Xk
[
Y= .
10 i

Newton—Raphson
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b(j=12L k)

logistic
logistic likelihood ratiotest (score
test) Wald (Waldtest)
A
L =2In(L/L)=2(nL - InL)
In L m(m < k) L
m 1 Xj Ho
A 1 c? L3 ciy a X;
X,
1 Y
D
E
F
D
D
[ 1]
multiple linear regression
X, Y
coefficient of determination SS SS
R? R°=ss /ss R multiple
correlation coefficient , p
0< Rs1
2 Logistic
A B
C D
A
L ] logistic
logistic
11-2 SPSS SAS
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n-1 20
X, /kg X, fem X,lem YL
1 50.8 73.2 36.3 2.96
2 49.0 84.1 345 313
3 428 78.3 31.0 191
4 55.0 77.1 31.0 2.63
5 453 817 30.0 2.86
6 453 74.8 320 191
7 514 737 36.5 2.98
8 538 794 37.0 3.28
9 49.0 72.6 30.1 252
10 539 795 37.1 3.27
11 488 838 339 310
12 52.6 88.4 38.0 3.28
13 427 78.2 309 192
14 525 88.3 381 3.27
15 55.1 77.2 311 264
16 452 81.6 30.2 2.85
17 51.4 78.3 36.5 3.16
18 487 725 30.0 251
19 51.3 78.2 36.4 3.15
20 5.8 75.0 325 1.94
SPSS “ EXAP11—2 sav” 20
Stetigtic
Regression
Linesar...

Dependent Y

Independent(s) X, X, X,

Method  Enter

Variables Entered/Removed
Model Variables Entered | Variablesy Method
Removed
1 Enter
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%

a All requested variables entered.

b Dependent Variable: Y

Model Summary

Mode R R Square] Adjusted| Std. Error of the Estimate
RSquare
1 .846 715 .662 .2893
a Predictors: (Constant), X,, X,, X,
ANOVA
Model Sum of df Mean F Sig.
Squares Square
1 Regression 3.367 3 1.122 13.413 .000
Residual 1.339 16 8.368E- 02
Total 4.706 19
a Predictors: (Constant), X,, X,, X,
b Dependent Variable: Y
Coefficients
Unstandardized Standardized
Mode Coefficients Coefficients t Sig.
B Std. Error Beta
1 (Constant) -4.676 1.321 -3.541 .003
X 6.036E02 .021 A74 2.899 .010
° |3508804 .015 333 2.272 037
X2 5.010602 .029 .307 1.735 .102
X1
Dependent Variable: Y
DATA  EXAP11—2 INPUT x1x2x3y@ @ PROC REG
CARDS MODEL y=x1 x2 x3
50.8 732 36.3 296 45.875.032.51.%4 RUN
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Andysis of Variance

Sum of Mean
Source DF Squares Square F Vvdue Pr>F
Model 3 3.36732 1.12244 1341 0.0001
Error 16 1.33893 0.08368
Corrected Totd 19 4.70626
Parameter Estimates
Parameter Standard
Variable DF Egimate Error t Vdue Pr> [t
Intercept 1 -4.67553 1.32051 -3.54 0.0027
X1 0.06036 0.02082 290 0.0105
X2 0.03508 0.01544 2.27 0.0372
X3 0.05010 0.02888 173 0.1020
[ ]
SPSS  SAS
1 Ho b,=b,=b,=0 F=13.413 P=0.0001 Ho
2 b: b bs
¥=4.68+0.06X, +0.04X, +0.05X, R=0.715 R’=0.662
3 1n-2
11-2
SE t P
by -4.675 1.321 -3.54 0.00
by 0.060 0.021 2.90 0.01
b, 0.035 0.015 2.27 0.04
bs 0.050 0.029 1.73 0.10
32
A c? B F
C U D Ridit
33

o0 W >
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B

C Uk

D

E
35 F

A B

C D

3 4
5 6
logistic b,
Y kg X, cm X,

12
aX,=1611 g X7=219631 §X,=106 QX;=97%6 QY=341
aY?=9883 J X,X,=14454 § X,Y=46439 § X,Y =3079
Y =b, +b X, +b,X,
b, =2114 b =013 b, =0.923

-3 12

1 Y X
multiple linear regression multiple regression
2 Y =h+hX, +b,X, +xe4h X, b b, ., b,
partial regression coefficient b, X, X;
Y
3 R coefficient of multiple correlation , R
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4 coefficient of determination R? SS

S R*=SS /SS R? y X
5 logistic
eb0+b1X1+b2X2+L +b Xy
P= 1 + @Po*bXu B XaH +b X,
_ 1
= 1+ eb0+b1X1+b2x2+L +by Xg
i odds P/Q
odds
6 logistic OR odds
ratio
bl XJ
X e’

Y =b, +b X, +b,X,
ihly, +byly, =1,
Bl +b,l, =1,
b, =2114 b =0.135 b =0.923
Y =2.114 +0135 X, + 0.923X,,

1-4 12
Y S MS F
2 151.35 75.675 16.380
9 41.57 4,62
11 192.92
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(statistical graph)

statistical table
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2
3
4
_ “« 0"
5
o
3
(simple table) (combinative table)
1
160
150
140
130
120
110 1 1 1 1 1 1 1 1 N 1 1
7 8 9 10 11 12 13 14 15 16
2
(bar graph) (line graph) pie graph
histogram (scatter diagram) (statistical map)
3
@
@
€))
0
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@) 7:5 5:7
®)
12-1
12-1
0
3
100%
3.6
12
“ o
12-2
12-2 119
% % % %
39 32.77 1 9.24 2 1.68 52 | 43.70
2 1.68 19 15.97 14 11.76 35 29.41
8 6.72 7 5.88 17 14.29 32 26.89
49 37 33 119
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12-2
" %
12-3
12-3
%
49 39 2 8 79.6 4.1 16.3
37 11 19 7 29.7 51.4 18.9
33 2 14 17 6.1 42.4 51.5
119 52 35 32 43.7 29.4 26.9
12-3
12-4 HIV
%
2.40
2.23
1.79
0.82
0.06
1
12-4 12-1
2T
24 |
21t
_ta g —
==
= o985t
it
o1zt
L
0.6
0.3
D —
HEE EE Y] EpEE FE

BEliz-1 TFHEZTR A MV S
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12-5

10

12-5 (cm)
17 115.41 115.51
18 118.33 117.53
19 122.16 121.66
10 129.48 125.94
11 129.64 131.76
12 135.50 138.26
13 138.36 141.17
14 145.14 147.21
15 150.84 150.03
16 154.70 153.06
17 18 161.90 156.63
12-2
o s
150 [
~
5
~ 140 |
130
120
110 o o
7 8 9 10 11 12 13 14 15 16 17
)
12-2
12-5 12-2
10 15 15
12-6
12-6 1998
%
413 303 72.1
103 064 18.0
57 174 9.9
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1
@ x 360°
@
9 12 12-3
18%
12-3 1998
12-7
12-7 %o
1949 150.2 20.1
1950 148.0 16.6
1951 141.0 14.0
1952 130.0 11.8
1953 110.4 10.7
1954 98.2 6.5
1955 72.6 3.9
1956 68.0 2.4
1957 54.8 1.3
1
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FETE Chod

180
140
120
00 -
a0 |
&0
40

1949 1950 1951 1952 1953 1954 1955 1956 1957

12-4

2.5

2.0

1.5

1.0

0.5

0.0

Fir

1949-1%7 15

12-4

.

1949 1950 1951 1952 1953 1954 1955 1956 1957

12-5 1949-1957 15

1954
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2

161
12-8
% % % %
161 108 67.1 |70 43.5 | 38 23.6 |53 |[32.9
1952 1972
12-9 1952 1972 1/10
1952 1972
165.2 27.4
72.5 83.6
57.2 178.2
12-10
% %
91.43 86.39
61.22 31.36
17.14 16.51
12-11 1997

4 7 14 9 14 17 104 58 12 5 2

249

12-12 224
11 4.1
16 13.5
21 44.6
31 27.1
41 8.9
51 1.8
100.0
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4. 1972 “ "
1975 5 482 101 21
145 22 236 15 1947
144 37 1417 323 359 41

2. « g « « om

5. 100%

1. statistical table

2. (statistical graph)

)
@
®
®

® C o

@
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@

®
0
O] 7:5 5:7
®)
A/B X=A/B, IgX= 1gA — 1gB,
A,B
12-8 12-13
12-13
%
53 32.92
38 23.60
70 43.48
161 100.00
2. 12-6
180 @ 1972
150 01952
o 120}
~
T 9r
60
30 +
0 1 1
12-6 (/10 )
1972 1952
3. 12-10 12-7 12-11 12-8
12-14 12-9
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FAHE2E (W)

A

100
an
an
T
EN
an
40
an
an

i1a
100
a0
a0
T
El
a0
40
20
20
10

OFE—ik
mE_H

HEN

oS

Hd

wh

Bl 7 FHERER DED M EEER

Bif
BEli2s FEEEM09TEFE B £ R EREL

5 12-8
12-14 224
5

11 9 9
16 30 30
21 100 50
31 61 30.5
41 20 10
51 61 4 2

224 224
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EN

an

40 |
3 an F
20
10 —I—‘
; .
11 16 21 31 41 a1 B1
EEE 8D
12-9 224
4. 12-15 12-10
12-15
1947 1975
% %
144 37 25.69 101 21 20.79
1417 323 22.79 145 22 15.17
359 a2 11.42 236 15 6.36
20 1974
o1975
25
=20
S
15
10
5
0
12-10

1974
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A WO N

a 1B & o p

~N o OB~ W DN P

2. Kappa

3.Kappa

(experimenta study)

experiment clinical trid
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placebo

primary question

secondary question

2.
inclusion criteria exclusion
criteria
3.
4.
5.
error bias
1
random error
systamatic error
2
sdlection bias
measurement bias
contamination intervention compliance noncompliance
lost of follow-up disagreement

blind method
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confounding bhias

randomized control trial

paired design

randomized block design

éz(ua +ub% uz
N=e——u
e u
a
_dN
b 2S a
1-b

125

13-1

132



u
N=¢Tg 13-3
e u
N
Uy :dﬂ-ua 134
Sy
3
N _é(ua +ubb L\,jz
=e———u 135
e d a
u, =g¥N_ u, 136
S
4
- (ua +ub )24pc l- pc) 13-7
2
(pl'pz)
'\/mpl_ p2|
U, = —F——=- U, 13-8
’ zwlpctl_ pcj
p]_ p2 pc N
5 c?
_éua ajc—'-l'lb’\la)-+|:)+-/pc'::l
N=¢ a 13-9
e p-+'p+- g
__b __¢C _p. *p.,
p+. - a+b p-+ a+c pc 2
Ub:«/mp_+-p+_ AP 13-10
'\/2p-+p+-/pc
6
2
N:(;:a%—89 1311
ed g
7
2 -
N :—uap(lz p) 13-12
d
5. Kappa
-P
Kappa=% 13-13
Kappa Kappa = 0.75

0.4
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experimental  effect

1
[ ]
2
[ ]
1 10%
5% a =0.05, 90%
a =0.05 JUys =1.64 b =0.10,

Uy,,=1.28 p, =0.1 p,=0.05 d =0.05 p_=0.075

(U, +u) 4 (1-p,)  (1.64+1.28)" 4" 0.075" 0.925 _ o6

(P1-P>) 0.05?
946 473
2, 32009 4679
220g
a =0.05
1 1- b =0.08
2 1-b 090
3 120 a =0.05
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2
€2(m +m)s U 62(1.64+0.84)4670
1 N=¢ u=g g =
g d § 6 220 |
112
€2(m +m)s U é2(1.64+1.28)4670
2 N=¢6& u=g u -
g d g é 220 )
154
3 ub:d‘/ﬁ-ua :22,:“240-1.64:2.00
2 2 467
m, =2.00 b =0.02 power=1-0.02=0.98
3. 5
40~64 5 2.5%
5 2.0%
1 a =0.05 80%
2 0.90
3 0.80
4 5000 a =0.05

(1) a=0.05, u,=1.96, b=0.20, U, =0.84,p,=0.025,p,=0.02,p .=0.0225
o +uJ4p - p.) _96+0.84) 4 0.0225 (1- 0.0225)

= = 27588
(P.-p.) (0.025- 0.02)
a =0.05 80% 13794
2 a =005 u,=1.96, b =0.10, U, =1.28
(0, +u,Pap.0-p.)  (196+1.28)°4" 00225" (- 0.0225)
- = = 36042
(.- p,) (0.025- 0.02)°
0.90 18471
3 a=005,  u,=1.64,b=0.20,u, =0.84
(U, +u, P @-p.) (1.64+084)°4° 0.0225 (1- 0.0225)
= = = 21644
(.- p,) (0.025- 0.02)?
0.80 10821
4 a=00s,  u,=1.96

" ﬂpl p.| " _ +/10000[0.025- 0.02 10601686
C2fp.@-p.) 20022501 0.0225)

b =0.4325 1-0.4325=0.5675
4. 375 10%
10% 2%

b =0.10,
a=0.05 Upes =1.96 P =0.1 d =10%x20%=0.02
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T , 1.96°
N =p,(- —)°=0.1 (1- 0.1 =864
Po(l- Po)( ) - 0D 5oz
864
HbsAg 14.78% HbsAg
1% a =0.05 b=0.10
a =0.05 Uy =1.96  p, =0.1478 d =0.01
2 2
&l 0 83.96 o
N =p,(1- — - =0.1478(1- 0.1478) .——- =4838
po( po)gd : ( )80.01b
4838
3 4. 5
9 10.
A. B
C. D
50
A B C. D
A B C. D
A B C. D
A. B
C. D
A. B
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2.8kPa

80

C g < < a <« ¢

—

< o o a

A.P 0.05
B.P 0.05
C.P 0.05
D.P 0.05
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1 A

1.8ml/min B 2.4ml/min 1.0ml/min
a =0.05 B =010
2. 37
0.1 0.2 |
b 0.05
3 2kPa
10 5kPa
4 10 5
a =0.05 6
6 95%
5 30
20 23
10%
6. 120 A B C
56 1 9 15 24 70 89 100
116 A B C
1. placebo control
2. randomization
3. confounding factor
4. systematic error
5. bias
6. (experimental study)
7. contamination
8. intervention
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9. lost of follow-up
10. randomized control trial
1.
2. a 1-B o
1. D 2.D 3C 4. A 5D 6. D 7.D 8. BC, A
1.
2
1.
2.
3. 1 B 2 A 3 D 4 D
1. 0 =2.41.8=0.6ml/min o =1 a =005 fp =0.1
Uy, =1.282 t
7 2
N = é2u, +u, b o _62(1.96+1.282)" 1¢° 120
§ d o 8 0.6 H
120 60
2 a =0.05 , Uy =164 b =0.05,
=0.1°C,s =0.2°C t
. 2 , 2
_é(u, U )s 0 (164 +1.64) 020 _
N=g a= - =43
g d a & 01 H
43
3. a =0.05 Uy =1.64
5kPa S , S o t :
2
_é(u, +uy)s U 6(1.64+2.33)° 50 _
N=g a= - =98
§ d g & 2 H
98
4. a =0.05 s Upes =1.96, b =1-0.9520.05, Uy
6 t
£ (2 , ., 2
_6é2(u, +uy)s U _g2" (1.96+1.64)° 6U _
N=g a= -~ =51
g d a & 6 H
52 26
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u

Uy

0.05

=1.64.,d

0 =1.96

=164 d

b =0.01, y, =2.33,d =2kPa,S

=6,s



=3
30

P, =

N|™M

=0.10, U,,,=1.28,p, =

Uy =1.96, b

0.05

a

43

60

852

—~
oo_nu
< |®
1
)
oo_nu N
v RIS
N 1
B L
N
—
+
—i
N
Il
~—~
(&)
o
1
— |«
N
kN
Flo
o 1
—~~ -
5|2
+
[
>
-
I
=z

426

A

000 332

13-1

C

B 666 998

333 665

13-1 120

994
507
542
309
871
375
701
141
305
018
341
769
334

91

647

61

47
791
503
568
442
002
735
598
400

31

628
673
833
915
776
713
366
663
830
842
123
318
168
461
449

92

474
685
414
878

62
63
64
65
66
67
68
69
70
71
72
73

32

93
94
95
96
97

33

34
35

790
201
690
703
723
437

36

37

98
99
100
101
102
103

38

39

157
531
820
801

40

10
11
12
13
14
15
16
17
18
19
20
21
22
23
24
25
26
27
28
29
30

41

126
222
010

42

43

125
292
314
957
322
842
445
412

104
105
106
107

74
75
76
77
78
79
80
81
82
83
84
85
86
87
88
89
90

125
503
692

44
45

109
479

46

658
123
532
993
661
394

648
947
875

112
370
443
465
911
601
265
520
502

47

108
109

48

49

110
111
112

120
236
873
010
923
391
436

50

51

874
523
499
421

52

571
931
174
785
329
321

113
114
115
116
117

53

54
55

748
945
797
485

129
484
560
294
948

56

786
562
919
536

57

118
119

58

700
443

59

508

120

60

690
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13-1 A B 14 22 20 A
132
132 A B C
A 14 16 30
B 22 26 48
C 20 22 42
56 64 120
€c2=0.028 C2%.052=5.99, A
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()

@
2
©)
(4)
©)

(©)
Q)
©)

@
@

®
)

)

()
(survey)
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(overall survey) (sampling survey) (complete
survey) ( ) “

”

(cross-sectional study)
(longitudinal study)

1 (instruments) “ o “

“ ” “ ”

2 (questionnaire) 4

“ n o " ow ” o n o« ”

®
@
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©)

®
t, .S
n=(22)2 14-1
d
d S n
n t0.05/ 2 u0.05l 2 t0.05/ 2
n
u? 1-
n=—2 2 ’ng P) 14-2
d
d p 50%
p 10% 30% p=0.30 p 40%  80% p=0.50
p p =0.50
7
8
informed consent
()
1
(probability sampling)
> >
>

(Sampling frame)

1 (smple random sampling)
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n, s
S, =.|(1- )= 14-3
7=y N) n
— n, pd- p)
S =.J0-—)——=
P \J( N) n-1
14-4
n/N (sampling fraction) (1- n/N) * ” (finite population
correction) “ "
2 (systematic sampling)
3 (stratified sampling)
( ‘" drata)
Ni
(proportional  allocation) Ni N
Ni n Ni N
noN n =N 145
n N N
(optimum allocation) N; o
NS
=N 146
a. NiS i
. Ni'\}pi(l' p.) 14-7
| é.Ni\/pi(l'pi)
W =N,/N X p
X =8 WX 148
_ |2 N\ 2a 2
Sg = \/ a - N—i)Wi Sz 14-9
p=AWp 1410
s, _\/é (1- Tyw?s,? 14-11
4 (cluster sampling)
K k
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X|
©

- Ko —
X =— X 14-12
Nk amx
SHSLY Ry Sy 30 5% 1413
* N K k(k DG
T, i T T T=4T/k
K o
p=— 14-14
NK aa1
s, =X Ja- 5L )4 (a - ay 1415
"N K k(k )"
éai a
(non-probability sampling)
1 (quota sampling)
30%
3%
o«
" (snowballing)

(judgement)

)

(case contral study)

(cases) (controls)

(cohort study)

(exposure) (outcome)
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14-1

(oddsratio OR)
OR RR
OR RR
(attributable risk proportion  AR%)

(cumulativeincidence ClI)
(incidence density D)
(relativerisk RR)

(attributablerisk  AR)
(attributable risk
proportion AR%)

OR RR
()
( )
( )
(standardization)
1
(direct standardization)
( )

2

(indirect standardization)

(

standardized incidence ratio SIR

standardized mortdlity ratio SMR) SIR(SMR)
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14-2

Py

P1

M

m

P,

P2

P

Ny

Ps3

s

n3

-pi

fi

n;

Py

P

I

Nk

14-16

14-17

14-18

(survey)

< m O 0O
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< m O 0O
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D
[ ]
n
QD
K
[ ]
(kPa)
0.5 9B%
s =.2 d=05 Uy s =1.96
talzs 2
n=(— — n n
)
l"10.05/ 2 t0.05/ 2 n
u, .S
n:(adL)2 N= 1.96x 2.2/0.5 ’=74.37= 74
n=74 n=74-1=73 n=73 t toos273=1-993

143

22(kPa)

0.05/2



t.,,S
n=(%)2: 1.993x 2.2/0.5 *=76.90= 77

n=76 n=76-1=75 n=75 t toos/2 751992

t,,,S
nz(%)zz 1.992x 2.2/0.5 *=76.82= 77

77
[ 1
n= (taIZS )2
d
u, .S
n :( al2 )2
d
1 2 3
6 7
10
1
A B
C D
2 n
A d S b
B a S
C d s a
D d S 18
3 (5000 )
0.5mg/L 0.1mg/L
A 97 B 95 C 9% D 9%
4
A B
C
5 Sy =S/n
A C D
6
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145

A B
C D
10
A -
B 1 1 2 3
C 1
D N
1 1000 600
A
B
C 400
D 600
2
1 375 10%
20% a =0.05
2
0.5mg/L 0.1mg/L
3 14-3
14-3 (/710 )
¢ ) ¢ )
0~-4 1900 1406 74.0 26 21 80.8
5~14 3100 186 6.0 30 2 6.7
15~44 9400 1786 19.0 127 27 213
45~64 4900 7350 150.0 25 42 168.0
65~ 2000 17400 870.0 5 48 960.0



21300 28128 132.1 213 140 65.7

250
14-4 OR
14-4
110(a) 25(b) 135(m,)
140(C) 225(d) 365(m,)
250(N,) 250(n,) 500(1)
(sampling survey)
(simple random sampling)
(systematic sampling)
(stratified sampling)
( ‘7 dratd)
(cluster sampling)
K k

(probability sampling)

(non-probability sampling)
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9 (case control study) “
10 (cohort study)
(exposure)
1C 2 3 4 B 5 6 A 7 B
10 n A
1
2 4
1
p=0.1 d=02x p=0.2x 0.1=0.02 Uy 05=1.96
2
n :%glp)ﬂ.gszx 0.1 09/ 02x 0.1 %< 865
2
s =0.5 d =01 Uy o5 =1.96
t, /.S
n= ( al2 )2 n n
d
u0.05/ 2 t0.05/ 2 n

8 (relative risk RR)

u, .S
n=(adL)2 N= 1.96x 0.5/0.1 ’=96.04= 96
n=9° n=g6-1=95 N=s5 t foos/2,55 19854

t .S
n=(%)2: 1.9854x 0.5/0.1 *=98.55=~ 96

147

(outcome)

0.05/2



96

14-5

14-5

1/10
0-4 1900000 80.8 1535
5-14 3100000 6.7 208
15~44 9400000 213 2002
45~64 4900000 168.0 8232
65~ 2000000 960.0 19200
21300000 31177
anNp
pe= L2 = ST+ 100000 = 146.4/10
N 21300000
14-6
146
1/10

0-4 74.0 26000 192
5-14 6.0 30000 18
15~44 19.0 127000 241
45~64 150.0 25000 375
65~ 870.0 5000 435
1261

r
pt=P Y =132.1 %:146.5/10
(] .

OR
_ 110" 225 _
257 140
OR Mantel-Haenszd ¢ 2
H, OR
Hl OR 1
) (ad - bc)?(n- 1)
C'MH = ———————
nn,mm,

7.07

=73.17 n=1
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73.17>C %0051=7.88 P <0.05
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(population)

100

= x 100 15-1

= € x 100% 15-2
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14

= x 100%
(pyramid)
crude birth rate, CBR
x 1000%o
(generd fertility rate  GFR)
x 1000%o

15~49

life-time fertility rate, LTFR

total fertility rate, TFR

natural increase rate, NIR

151

x 1000%o

15-3

15-4

15-5

15-6

15-7

15-8



1 (crude death rate CDR) death rate ,

1
= x 1000%o 15-9
2 age-specific death rate ASDR
= % 1000%o 15-10
3
standardized mortality rate SVIR
4 infant mortality rate IMR
= % 1000%o 15-11
5 neonatal mortality rate NMR
28
50%
100%
28
= x 1000%o 15-12
6 5
5
5
5 = x 1000%o 15-13
7 cause-specific death rate CSDR
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()

2

prevalence rate

= % 100000/10

incidence rate

= x 1000%o
prevalence rate
= ————x 1000%0
period prevalence rate
(fatality rate)
= x 1000%o
mortality rate
= x1000%o
cure rate
x 100%
survival rate
u " n

= x 100%
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15-14

15-15

point

15-16

15-17

15-18

15-19

15-20



Kaplan-Meier

infant mortdity rate, IMR
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x 1000%o



A B
C D
D
[ 1
3
A
B.
C
D.
B
[ 1
total fertility rate, TFR
= &(
4
A B
C
C
[ 1
5
A B
C D
A
[ 1
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x 1000%o

15-1
1
2 15-49
6
7
15-1

0 4.2 4.0 45 2.4 2.7
5 3.2 3.1 50 2.1 2.4
10 4.4 4.2 55 1.2 2.2
15 5.5 5.3 60 1.3 2.4
20 5.1 5.2 65 1.1 1.4
25 6.0 6.1 70 0.8 1.2
30 4.3 4.5 75 0.5 0.9
35 3.2 3.3 80 0.2 0.5
40 2.3 2.5 85 0.1 0.2
1.

= x 100

= x 100

=49.9/52.1x 100 = 91.94
2
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28
28

= x 100%

= 5.3+45.2+6.1+4_5+3.3+2.5+2.7

29.6%

14 +65
15 64
30.0/70.0 x 100% = 42.86%

=8 x 100%

65
100

157

x100%

=6.9%

10.

x100%



b o O W > o O W > O O W > O O W =

o >

o >

>

1000
1000
1000
1000
0
D.
400 300
100 200 1000
1000 B.  400+200 /2
400+300+100+200 /4 D. 400+300x 3/4 +100x 1/2 + 200x 1/4
1000 100 180
144 3
0.9 +0.8+0.8 /3 B. 1-0.10x 0.20x 0.20
1- 0.10- 0.20- 0.20 D. 0.90x 0.80x 0.80
50 B. 55
60 D. 65
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65
60
65
= x 100%
2.
14 64 14 65
3.
(pyramid)
4. birth rate, BR
= x 1000%0
5. total fertility rate, TFR
- & x
6.
standardized mortality rate SVIR
7. 1000
= x 100%
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10.

1.B

11. D

cause-specific death rate

x 100000710

maternal mortality rate

x 100000/10

survival rate
“ ” n
n
= x 100%
Kaplan-Meier

4.C
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% 1000%o

x1000%o
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2.
3.
()
life table
current life table cohort life table
1
()
1 " (exact age)
2 age specific probability of dying X
d d
Ox =—x nOx = X 16-1
Ix I'x
dy X ndy X n

162



4
persorntyears X
X+n

d

n =X
number of survival person-years

X X+n

dX ndX qX an
dX :|X qu ndX :|X>$1q>(
I><+1=|><'d>< |x+n_|x'ndx
number of survival personyears
n
LO =|1+a0' d0
L
L, =—
m,
L m,
life expectancy X
T
e =X
X
X

(abridged life table)

cause eliminated life table

163

162
163

total number of survival

N X

164

165

16-6

(16-7)



1 2
3 4
life expectancy X
X
0 65.5 1
G 65.5
H 65.5
| 65.5
D
D
[ ] 0 1
0
0 1
0 1
1 2 3 4 5
6 7
1 X X+l 10 X+l X+2 10x+1
X X+2 ()
A 10xX 10x+1 B 1-10xx 10x+1
Cc l'qu x 1‘1Q<+1 D 1 1'1qx x 1_lq><+l
2 ()
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C 0
1
2
3 Mgy s
1 1998
16-1 1998
0~ 18753 246 40~ 56806 134
1~ 54325 60 45~ 65863 239
5~ 64063 46 50~ 54243 346
10~ 94683 64 55~ 43355 528
15~ 114332 90 60~ 32004 763
20~ 126941 123 65~ 24445 972
25~ 118930 127 70~ 12818 897
30~ 91922 104 75~ 5813 647
35~ 62290 92 80~ 2685 517
ap =0.145
1 life table
2 current life table
3
complete life table
4 abridged life
table 5
5 cohort life table
6 age specific probability of dying X
n
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7 number of survivors

mX :n DX/an

X n
2Oy =(2nm,)/(2+n m,)
qx = mx /[1+ (l' ax)mx]
a, X X+1
2
0
3 Mes(y 85 85
e, 85
85
()
1
n DX
1 amy = 16-2
nPx
2 an
246
=——=0.013118
% % = 15753
1000000
3 |X ady [, =100000
16-3
d, =1,q9, =100000 ~ 0.013118 =1311
Il = IO - d0 =100000- 1311=98689
d, =1,g, =98689 ~ 0.004406 =434
[, =1, -d, =98689 - 434 = 98255
(4) n LX
a, =0.145
L, = Il +a, ’ d0 =908698+ 0.1450" 1311 = 98879

lg _ 24212 _ 125743

L = =
0 my,, 0192551
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(5) Tx =@ oL
o Lx
Teo = Ly = 125743
T, =L, +Ty, =293473
(6) €x = T
Ix
_ T _ 6994553 — 69.95
l, 100000
_ T, _ 6895674 _ oo oo
|, 98689
16-2
16-2 1998
X~ npx Dx nMyx nOx Ix ndX an Tx €
1 6 9 10
2 3 4 5 7 8
0~ 18753 246 0.013118 0.013118 100000 1312 98878 6994553 69.95
1~ 54325 60 0.001104 0.004406 98689 434 393888 6895674 69.87
5~ 64063 46 0.000718 0.003584 98255 352 490395 6501786 66.17
10~ 94683 64 0.000676 0.003374 97903 330 488690 6011391 61.40
15~ 114332 90 0.000787 0.003928 97573 383 486907 5522701 56.60
20~ 126941 123 0.000969 0.004833 97190 469 484777 5035794 51.81
25~ 118930 127 0.001068 0.005325 96721 515 482317 4551017 47.05
30~ 91922 104 0.001131 0.005641 96206 542 479675 4068700 42.29
35~ 62290 92 0.001477 0.007358 95664 703 476562 3589025 37.52
40~ 56806 134 0.002359 0.011725 94961 1113 472022 3112463 32.78
45~ 65863 239 0.003629 0.017981 93848 1687 465022 2640441 28.14
50~ 54243 346 0.006379 0.031393 92161 2893 453572 2175419 23.60
55~ 43355 528 0.012179 0.059093 89268 5275 433152 1721847 19.29
60~ 32004 763 0.023841 0.112499 83993 9449 396342 1288695 15.34
65~ 24445 972 0.039763 0.180837 74544 13480 339020 892353 11.97
70~ 12818 897 0.069980 0.297799 61064 18184 259860 553333 9.06
75~ 5813 647 0.111302 0.435368 42880 18668 167730 293473 6.84
80~ 2685 517 0.192551 1.000000 24212 24212 125743 125743 5.19
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2 Kaplan-Meier
1
2
3
Cox
1 survial time n-1 t 360,990,1400,1800
1 complete data
11-1 360 990 1800

2 censored data

11-1 1400 1400°*

1n-1 4
=1 =1
1 0 1 11/29/80 11/04/85 1 360
2 1 1 06/13/82 06/08/83 1 990
3 1 0 03/02/83 12/31/86 0 1400*
4 0 0 08/04/83 04/10/86 1 1800
2
1 mortality probability q
q:
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N |-

2 survival  probability p
p=1-q=
Kaplan-Meier
1
1 surviva  rate t, S(t,)
St,)=P(T3 t,) =% 11-1
T
2
P1, P2, L P
S(t)=P(T3t)=pp,L p -2
plv pziL 1 pk
0 t
(©) (survival curve)
(@) median survival time 50%
2
1 product -limit method
Kaplan-Meier 1958 Kaplan-Meier
2 lifetable method
log-rank test
m _ T 2
czzé_M u=m-1 11-3
S
A T, k H, c?
m-1 c? m c? H,
Cox
Cox

169



Cox
h(t) = h, (t)exp(b, X, +b, X, +L + bp Xp)
h(t) hy (t)
X,b Cox DR
Cox

L ] Cox
Cox
D Cox h, ()
A B
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5 11-1 Kaplan-Meier
[ 1
11-2
11-2
t t k
()
t n d q=d/n | p=1-q S(ty) = S(t)
360 4 1 Y4 34 (3/4)=0.75 0.2165
990 3 1 1/3 2/3 (3/4)(2/3)=0.50 0.2500
1800 1 1 11 01 (3/4)(2/3)(¢/1)=0.00 0
11-2
1 k=1 2 1
2 t
1400") 2
3 t n t 3
4 t d t 4
5 t 5
6 t 6
7 7 8
8
1.0
.81
.61
=
o
075}
.41
.21
9 Survival Function
0.0 i . i . i t Censored
0 600 1200 1800
t/d

11.1
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A w N

[y

Cox

11-3

2-4

296

12 25 50" 68 70 79"
119 17 21 25 37 38 58 72" 73

survival  anaysis

survival  time

complete data

172

D b,c

83" 91" 114" 1147



censored
data
5 mortality rate
6 mortality probability
7 survival rate ty ty
8 survival  probability
1.C 2¢C 3.D
4 hy )
)
11-3
11-3 296
k
k() p=1-q S(ty)  SE(S(ty))
t d c No Ne = Ngy g=d/n
-¢/2
“) ®) ®) (7) ® © (10)
1 0~ 94 10 296 291.0 0.3230 0.6770 0.6770 0.0274
2 1~ 74 15 192 184.5 0.4011 0.5989 0.4055 0.0294
3 2~ 22 10 103 98.0 0.2245 0.7755 0.3144 0.0285
4 3~ 22 6 71 68.0 0.3235 0.6765 0.2127 0.0263
5 4~ 5 5 43 40.5 0.1235 0.8765 0.1864 0.0255
6 5~ 6 6 33 30.0 0.2000 0.8000 0.1492 0.0245
7 6~ 4 1 21 205 0.1951 0.8049 0.1201 0.0237
8 7~ 2 1 16 15.5 0.1290 0.8710 0.1046 0.0230
9 8~ 3 2 13 12.0 0.2500 0.7500 0.0784 0.0217
10 9~ 2 0 8 8.0 0.2500 0.7500 0.0588 0.0202
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1 10~ 6 5.0 0.4000 0.6000 0.0353 0.0177
12 11~ 2 2.0 1.0000 0.0000 0.0000 0.0000
1 k=1 2 1
2 Ne =Ng-¢/2 6
3 g=d/n 7
4 p=1-q 8
5 9 10
6
1.0
.8
.6
)
A
w
.4
.2
0.0
0o 1 2 3 4 5 6 7 8 9 10 11 12
t/a
11-2
2 log-rank
1 H, H, a =0.05
2 A,=4 A=10 T, =8.6694 T =5.3306.
3
g -T.)? _(4- 86694)> (10- 5.3306)°
szé(A( k) :( ) +( ) :66052
k=1 T, 8.6694 5.3306
4 P 1 c? P<005 a =005 H,
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A WO N -

Topsis
evauation
synthetical evaluation
1 (quantitative evaluation) (qualitive
evaluation)
2 (clinical evaluation) (health evaluation)

(administrative evaluation)

3 (pre-event evaluation) (media evauation)
(after-event evaluation)

1 (index)
2
(weight)
3 (evaluation grade)
4

(evaluation model)
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(system’s andysis method)

(specidist-scored method) Satty
1 (synthetical scored method)
2 (synthetical index method)
3 (analytic hierarchy process)
4 Topsis

1998 11 18-1 18-2
181 11
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1
2 %
3 %
4
5
6 %
,
8 %
9 %
10
1 %
18-2 1098 1
1 2 3 4 5 6 7 8 9 10 11
1 650 90.8 3.08 3.00 20.6 1.41 28.7 92. 99.3 100 18.0
2 560 91.1 3.04 4.00 21.6 1.24 28.7 92. 98.6 100 17.6
3 609 91.7 1.97 4.00 20.5 1.33 27.3 97. 98.0 929 17.0
4 587 92.7 2.39 3.00 25.6 1.25 30.0 96. 98.3 96 17.1
5 651 88.0 4.30 4.00 23.3 1.30 28.3 94. 97.3 97 18.0
6 601 89.7 2.50 10.00 19.8 1.30 29.3 94. 97.9 96 17.0
7 584 90.0 2.91 5.00 26.3 1.30 28.0 93. 96.9 97 18.0
8 620 90.7 2.90 2.00 22.0 1.37 28.7 92. 97.9 96 19.0
9 626 90.2 2.24 4.00 22.0 1.37 29.2 94. 98.3 98 18.0
10 604 91.9 2.96 5.00 20.6 1.34 27.9 93. 99.1 99 18.5
11 653 90.5 3.37 2.00 19.5 1.44 29.4 94. 99.5 99 21.0
12 599 90.8 3.64 5.00 23.5 1.29 28.7 95. 89.1 99 18.8
612 90.7 2.94 4.25 22.1 1.33 28.7 94. 97.5 98 18.2
[ ] u 3 4 5 11
181 182 183
y=2 18-1
M
y=M 18-2
X
181 182 X
M
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18-3 1998 1n

1 2 3 4 5 6 7 8 9 10 n

1 106 100 096 142 107 106 100 098 102 102 101
2 091 100 097 106 102 093 100 098 101 102 103
3 100 101 149 106 108 100 095 103 100 101 107
4 096 102 123 142 08 094 105 103 101 098 106
5 106 097 068 106 095 098 099 100 100 099 101
6 098 099 118 042 112 098 102 100 100 098 107
7 095 099 101 085 084 098 098 099 099 099 101
8 101 100 101 213 100 103 100 098 100 098 095
9 102 099 131 106 100 103 102 100 101 100 101

10 099 101 099 085 107 101 097 099 102 101 098
11 107 100 087 212 113 108 102 100 102 101 087

12 098 100 081 08 094 097 100 101 091 101 097

18-3
Ui}
1=a Oy, 18-3

11,
-

i j=1
1 2
l,=1.06+1.00" 0.96" 1.42+1.07" 1.06" 1.00" 0.98+1.02" 1.02+1.01
=55851
l,=091+1.00" 0.97" L06+1.02" 0.93" 1.00" 0.98+1.01" 1.02+1.03
= 4.9509
18-4

18-4 1998

1 2 3 4 5 6 7 8 9 10 11 12

55851 4.9509 5.7462 5.6642 4.6833 4.6476 4.5929 6.1251 54824 4.8934 6.0795 4.4838
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A B
C D
3 0.6370
0.2970 1.0 Saaty
A 1.9340 B 0.9340 C 1.7636 D 0.1892
4
A B
C D Topss
5
_18
I=—ay
ni
A m B n
C vy D
18-5 Topsis 1995~1997
18- 5 1995~1997
%
% % % %
% % %
1995 2097 11381 1873 9942 99.80 97.28 96.08 257 9453 460
1996 2141 11612 1839 99.32 9914 97.00 9565 272 9532 599
1997 1913 10285 1744 9949 9911 96.20 9650 2.02 96.22 4.79
1A 2B 3D 4.C 5.C
18-6
18-6
%
0, 0, 0 0,
% % % % % % %
1995 2097 11381 534 9942 99.80 97.28 96.08 97.43 9453 95.40
1996 2141 11612 544 99.32 9914 97.00 9565 97.28 9532 94.01
1997 1913 10285 573 9949 9911 9620 9650 97.98 96.22 95.21
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18-6

1995

184 187
X,
Z; =—— 18-4
[} 2
a (X”-)
i=1
18-4

20.97

=0.509

Z.. =
Y 20977 + 2147 +1913°

18-7

1995 0.590 0.592
1996 0.602 0.604
1997 0538  0.535

0560 0.577 0580 0580 0577 0577 0572 0.581
0570 0577 0576 0578 0575 0576 0577 0.572
0601 0578 0576 0574 0580 0580 0.583 0.579

18-5

18-6
Z+ = (ailmax’aTZmax’L ’aimmax) 185
Z = (Q1min’aiZmin’L ’aimmin) 186

Z" = (0.602 ,0.604,0.601 ,0.578 ,0.580,0.580,0.580,0.580,0.583 ,0.581)
Z = (0.538,0.5350.560,0.577,0.576,0.574,0.575,0.576,0.572,0.572)

18- 7

1997 D°

18-8 D* D 18-8
+ g 2
D" =.a (aij max = & 18-7
i=1
D = é. (aij min = & )2 18-8
i=1
D-

D* =/(0.602- 0.538)° +(0.604- 0.535) +L +(0.581- 0.579)

=0.094

D" =,/(0538- 0538)" +(0.535- 0.535)* +L +(0572- 0579)?

=0.044

18-9

1997 C,
_ 0044
" 0.094 +0.044

18-8

CI 18-8
Ci = —Di 189
D +D;
0.319
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D* D G
1995 0.045 0.078 0.634
1996 0.034 0.095 0.736
1997 0.094 0.044 0.319
18-8 1996
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